hFIEIFE FrEE

T
FhEER B—1 thEE BE—1
H X [ 7K [ X [ & B P [ 7K [ X [ &=
= A#EEOESE 15% = BHEEOHES 105
§ B3 EE) 154 (E EE ez EE ez = 204
0 [o5a% 0 5
£ BEEFEDRE 109 = HE4EFOEE 109
45 . 45 N
n REEE (57 5<Y) 154 5 REEE (5 H5Y) 1545
10 “g [SEAY 10 “g 57
s e I i
o [Py 55 | we |pzes| 25" son o [P, 2 | e |pxes| B2 son
EFET | wne F FH #E 507 HEFRET | wme ¥ FHE #E 507
g a3 EE=E3 511 g s BEXE=S 311
o <ie - o sz
50 50
55 5 55 57
11 0 11 0 -
o fRA 1A S REEHHE
2 i ) EHIg AEE T E i ] B L.
o e = i hEfE sz | o " | = | EE hEE T i
] EEen | .2, | (ny | FEFE| 28 5043 ] emms | 222, | Loy | fEEEE| 2= 504
q ¥z PR1-2 L-+hl ] ¥& PR1-2 -k
40 == 31 [ 40 == %3111
45 45
50 57 50 5
55 55
12 0 12 0
5 5
0 0
5 5
0 0
2 HEEEDIEE 65% 2 BELFEDEE 65%
5 5
40 40
45 45
50 50
55 55
13 13
0 10%) 3 105
0| 0|
5 wams 5 Baml
g e | essEors —%I SEORME | esEEnkE
-t ¥ L £ -t ¥ -t & L 3= o —
d aumm | 42 texem | axEm | 509 i aaEm | 207 e | axEm | s0%
jg Xz 3 (r-—‘3 —i%l e i""‘s
50 RI=E 50 HI=E
14 52 14 Eg
0 10% 0 10%
0 0
5 5
Y BELEEORE BEEEIDESR 30% Y BHELEORE BEEENEE 30%
g 5
40 40




